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B. Bipartite Blanket
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const int MAXN=21;
int gl1/MAXN|,g2[MAXN|,a[MAXN|,b[MAXN];
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int s[1<<MAXN],vis|1<<MAXN|,bt[1<<MAXN|,1g2/[1<<MAXN];
bool ok|1<<MAXN];
#define lowbit(x) (x&(-x))
vector<int> solve(int *a,int *g,int n
vector<int> ans;
int S=l<<n;
ok =1;
ans.push back ;
_for(i,1,S
ok[il=1;
s[i]=0;
_for(j,0,n
1&(1<<j
ok[il&=0k[i™(1<<j)|;
slil+=aljl;

vis[i|=vis[i”~lowbit(i)||gllg2/lowbit(i ;
ok[il&=(bt[vis[i]|>=bt[i]);

ok|1i

ans.push back(s[i]);

//printf("sd %d\n",1i,s[1]);

ans;

char buf [ MAXN];

int main
int n=read int(),m=read int();
_for(i,0,n
scanf("%s",buf);
_for(j,0,m
buf(ji=="1"
9l[i] |=1<<j;
92[]]|=1<<i;

_for(i,0,n)alil=read int();
_for(i,0,mblil=read int();
int S=1<<MAXN;

_for(i,1,S

bt!i|=bt[i~lowbit (i) +1;
_for(i,0,MAXN

192[1<<i]=i;

vector<int> sl=solvel(a,gl,n);
vector<int> s2=solve(b,g2,m);
sort(sl.begin(),sl.end ;
sort(s2.begin(),s2.end(),greater<int> ;
int t=read int(),pos=0;
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LL ans=0;
int v:sl
pos<s2.size( )&&v+s2[pos|>=t)pos++;
ans+=pos;

enter(ans);

’

J. Jazz Journey
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const LL inf=2e9;
const int MAXN=3e5+5;
map<pair<int,int>,int>mp;
struct Node
int u,v;
int type;
bool operator < (const Node &b)const
ul=b.u
u<b.u;
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vi=b.v
v<b.v;

type<b.type;

map<Node,LL> cost;

vector<int> c[MAXN];

int alMAXN];

LL ans;

void solve(int id,int u,int v
LL wl,w2,w3,w4;
int cnt ={0,0};
wl=cost.count(Node{u,v, ?cost/Node{u,v,
w2=cost.count(Node{u,v, ?cost/Nodelu,v,
w3=cost.count(Node{v,u, ?cost[Node{v,u,
wd=cost.count(Node{v,u, ?cost[Node{v,u,
wl=min(wl,w2);
w3=min(w3,w4);

int t:clid
cnt
w4==min (w2 ,w4)&E&w4<w3+wl
ans+=w4;
cnt --
cnt ++;
cnt ++
cnt
w2==min (w2 ,wd)&E&w2<wl+w3
ans+=w2;
cnt --;
cnt ++;
cnt ++
int tt=min(cnt ,cnt ;

w2!=min(w2,w4)&&w2<wl+w3
ans+=1LL*tt*w2;
cnt -=tt;
cnt -=tt;

:inf;
:inf;
:inf;
:inf;

https://wiki.cvbbacm.com/

Printed on 2025/07/12 09:11



2025/07/12 09:11 5/7

oooo

wa!=min(w2,w4)&&wd<w3+wl
ans+=1LL*tt*w4;
cnt -=tt;
cnt -=tt;

ans+=1LL*cnt *wl+1llLL*cnt *w3;
int main

int n=read int(),d=read int();
_for(i,0,d)alil=read int();

_for(i,1,d
int x=ali-1],y=alil;
x>y )swap(x,y);
mp.find (make pair(x,y))==mp.end

int t=mp.size();
mp/make pair(x,y)|=t;

c/mp/make pair(x,y .push back(ali-1]>ali

int m=read int();
~_for(i,0,m
int u=read _int(),v=read int();
char type=get char();
LL w=read int();
Node t;
type=="0"
t=Node{u,v,0};

t=Node{u,v,1};
cost.find(t)==cost.end

cost[t]=inf;

cost/t]=min(cost([t],w);

map<pair<int,int>,int>::iterator
iter=mp.begin();iter!=mp.end();iter++

pair<int,int> temp=iter->first;

solve(iter->second,temp.first,temp.second);

enter(ans);

.
’

L. Lost Logic

gd

O0$n$000000000000000000 $(x iMo()x j$000D00O0ODOO0O0O0OODOOODOO

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:legal_string:0 0 0 O
2021/08/06 0000 :contestll

17:36

gd

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:%E7%BB%84%E9%98%9IF %EB%AE%AD%E7%BB%83%E6%AF%94%E8%BS5%IB%EB%AE%B0%ES%BD%95: contest11&rev=1628242613

000000000000000$$00000 $(0,0,0),(0,0,1)\cdots (1,1,1)$0
0000 $000$00000000 $x\to!x$00 000 $(L,1,1)$00 00
00000 $001)$000 $x,y$00 0 00 $x\to y,!x\to ly$[]

O00D000D0o0oooosesonoonoooooooonooog $x\in(0,0,1),y\in (1,1,0)$00 000
$x\to ly,!x\to y$[]

0000000 $$00000000000000 000000 0O00O0O00O0O0O0O0O0O0O

O0000000000000 $x\in(0,0,1)Win(1,00)$ 00000000 $x=1y=1$000000
000000 $x\toly$f0 000000

gobogoboobodoobooobbooobboobbbooobboobobboobLbboooboD

const int MAXN=55;

int a MAXN!,b ;
vector<int> ¢ ;
vector<pair<int,int> =>ans;
int main

int n=read int();

_for(i,0,3) rep(j,1,n

alilljl=read int();

_rep(i,1,n

cla i]lla illla i]].push back(i);

vector<int> var;

_for(i,0,2) for(j,0,2) for(k,O0,
clil[jllk].size()== ;
i==j&&i==k

int t:cli][j][k

ans.push back(make pair(t,t+n));

ans.push back(make pair(t+n,t));

int head=*c[il[j][k].begin();
int t:cl[i][j][k
t==head ;
ans.push back(make pair(head,t));
ans.push back(make pair(head+n,t+n));

_for(i,0,2) for(j,o0,
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C illjl.size()&&c 1il[!j].size
int tl=*c i][j].begin();
int t2=*c 1il[!'j].begin();

ans.push back(make pair(tl,t2+n));
ans.push back(make pair(tl+n,t2));

C illjl.size
var.push back(*c il[j].begin ;
C 1i][1j].size
var.push back(*c 'i][!'j].begin ;

var.size()<
var.size()==
int tl=var ,t2=var ;

int dl=2-a tl]-a tl]-a tl],d2=2-a

ans.push back(make pair(tl+(1-dl)*n,t2+d2*n

enter(ans.size ;
pair<int,int> t:ans
t.first>n
t.first-=n;
putchar('!");

printf("x%d -> ",t.first);
t.second>n
t.second-=n;
putchar('!");

printf("x%sd\n",t.second);

puts("-1");

’
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